%*ﬂ5$(2023$)6 2 8H
% 8 & & ¥
= &t =

B4 FERRFRERT (FEHIE) 1220 T
4H1 5 4 (2023%) 6 H 1 HIRTE
( — & = & ) (Bfr - FH)
X 2 4FE 3EE LHe#ge AR (%) &% () HiEE
% A s %] 169,535,998 | 159,818,016 9,717,982 6.1 [IRAZE(%) 96.8(96.3)
% H i #A| 162,369,659 | 153,338, 351 9,031,308 5.9 [BUT=E(%) 92.7(92.4)
% A % W RS BE 2= 51 ZE| 7, 166, 339 6,479, 665 686, 674 10. 6
BEE AR T N E HE 736, 810 2,352,672 | -1,615, 862 -68.7
ES =1 I x| 6,429,529 4,126, 993 2,302,536 55.8
BOFE E IR X 2,302,536 741, 682
(H % Bl & &) (Bf7 - FH)
X 2 4FE 3EE Lo AR (%) &% () HEE
% A s (i 293,979 1,160, 851 -866, 872 -74.7 [IUAZE(%) 96.7(99.9)
% H i (5 293,979 1,160, 851 -866, 872 -74.7 [#dT=(%) 96.7(99.9)
& A % e R 2= Bl 2R 0 0 0 —
BEEANRRE T N E HIE 0 0 0 -
= =1 X 53 0 0 0 -
B OF E N X 0 0
(B RERAREERRSE) (Bf7 - FH)
X 2 4FE 3EE Lo AR (%) &% ( )IIEEE
% A s Al 32,624,942 | 33,401,215 =776, 273 -2.3 |IXUAZE(%) 97.4(98.6)
% H i % 32,315,351 33,020, 733 =705, 382 -2.1 BT (%)  96.5(97.5)
% A % KR BR 2 5l B 309, 591 380, 482 -170, 891 -18.6
BEEANRRE T N E HIE 0 0 0 -
ES =1 I X 309, 591 380, 482 -170, 891 -18.6
BOFE O EFE O OIR X -70, 891 37,009
(R EEEERERISE) (Bfr : +H)
X 2 4FE 3EE Lo AR (%) B () ISEIEE
% A s | 7,654,510 6,998, 954 655, 556 9.4 [MAZE(%) 100.7(100.9)
% H s % 7,589,710 6,917,503 672,207 9.7 [#BAT=(%) 99.9(99.8)
% A % KR BR 2= 5l AR 64, 800 81,451 -16, 651 -20.4
BEE AR T N E HE 0 0 0 -
ES =1 I X 64, 800 81,451 -16, 651 -20.4
BOFE OEFE O OR X -16, 651 10, 597
(TR BRI =) (BfL - FH)
X 2 4FE SEE Lo AR (%) &% ( )IIEEE
% A s A 24,269,573 24, 313, 651 -44, 078 -0.2 |IXAZE(%) 98.8(99.6)
% H i #H| 23,736,438 | 23,768,096 -31, 658 -0.1 [T (%) 96.6(97.4)
% A % KR BR 2 5l B 533, 135 545, 555 -12, 420 -2.3
BEEANRE T N E HE 0 0 0 -
ES =1 I X 533, 135 545, 555 -12, 420 -2.3
BOFE O EFE O OR X -12, 420 26,178

X BROESEIL., FHRBEOBAEALTVET,




